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Math 002 - Term 132 
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Answered by S. Omar 
---------------------------------------------------------------------------------- 

Question 1: For the function 1( ) 2 xf x += −  
1)   find the x − intercept and the y − intercept 
2)   find whether the function is even, odd or neither. 
3)   sketch the graph of ( )f x      4)   find the range 
Answer:   1)   The function does not have x-intercept 
To find y − intercept, put 0x =  and find the value of y : ⇒   2y = −  

2)  The function is even because:  1 1( ) 2 2 ( )x xf x f x− + +− = − = − =  

3)  The graph of the function 
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4)  The range is ( , 2]fR = −∞ −  

 

Question 2:   If 1 3( ) 2 tf t −=  is written in the form ( ) tf t k a= , then find the 

values of a  and k .    Answer:   12   and  
8

k a= =  

Question 3:  If ( ) xf x a=  and 1( 1)
2

f − = , then 1(16) ?f − =  

 
Answer:   (b): 1(16) 4f − =  
 

Question 4:  If ( ,0)a  and (0, )b  are the x −and y − intercepts of the graph of 
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, then ?a b+ =  

 
 Answer:  (a):  1 4 5a b+ = + =  
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Question 5:  
The adjacent figure represents the graph of  
(a):  2( ) 2 3xf x −= − +  
(b):  2( ) 2 3xf x += − +  
(c):  ( ) 2 3xf x −= − +  
(d):  2( ) 2 3xf x += − −  

(e):  
11( ) 3
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Answer:  (b):  2( ) 2 3xf x += − +  
 


